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[AEM751] 
TheÃ¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦ like 
perfect competitor attains maximum profit by producing and selling at that rate of output 
where there is positive difference between total revenue and total cost is greatest.
monopolist

[AEM751] TheÃ¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦ like perfect competitor attains maximum profit by 
producing and selling at that rate of output where there is positive difference between 
total revenue and total cost is greatest.
monopolist

[AEM751] which of these is not a determinant of supply
change in demand

[AEM751] Demand of a 
Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦ elastic at a 
lower levels of output.
moropolist's product

[AEM751] A market situation where there are large number of firms in the industry 
selling homogeneous commodities is called?
perfect competition

[AEM751] If factor prices remain constant the market supply of the commodity 
increases unitil the originil market supply is re-established ,it is called---------.
constant cost industry

[AEM751] Ã¢â‚¬Â¦Ã¢â‚¬Â¦Ã¢â‚¬Â¦. Economics contains descriptive statements and 
prepositions about the world.
Positive

[AEM751] which of these is not a determinant of elesticity of demand
initial price of the good

[AEM751] A group of firms producing the same or at smilar products as known?
industry
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